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Time : 3 Hours Marks : 200
Instructions :

(i) Each question carries one mark.
B8 BHH wf Srdy, 0.

(i) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BIHS AS BO PH AHWES TES® HOFS VEFTHHNE IEYFI TAY JrNoD

©o3 1, 2, 3 88 4 3m ad)s OMR $57es SE50S* 94 Somg ddHm o
D008 DBEL 03/e§ &S ool DY) GIRTA0N JoDIB.

1.  Whatisthe synonym of ‘amenable’ in ‘Both parties were amenable to a peaceful settlement
of the land dispute’.?

(1) Doubtful (2) Unwilling (3) Responsive (4) Disagreeable
2. Whatisthe synonym of ‘antidote’ in “‘Jogging is considered an antidote to mental stress’.?
(1) Poisonous (2) Remedy (3) Equivalent (4) Dangerous
3. What s the antonym of ‘transperant’ in “The window-glass is transperant’?
(1) Opaque (2) Translucent (3) Susceptible (4) Fragile
4.  What s the antonym of ‘unanimous’ in ‘It was a unanimous decision’?
(1)  United (2) Partial (3) Compatible (4) Harmonious
5. His mother was American though his father was European.
(1) aa (2) aan (3) an,a (4) an,an
6. Thecoordinator wasaskedtoattend _ theissue and resolve it immediately.
(1) by (2) in
(3) to (4) No preposition required
7.  Either of the roads to Vasantha Nagar.
(1) lead (2) leads (3) haveled (4) areled
8.  Please don’tdisturb me, | the coins now.
(1) have been counting (2) count
(3) wascounting (4) amcounting
9. Rishi___ hisengineering course by the end of 2017.
(1) will completed (2) complete
(3) will have completed (4) wascompleted
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10. Choose the correctly spelt word from the options given below.
(1) occasional (2) occassional (3) ocasional (4) occational

11.  What is the meaning of underlined idiom in “We would be glad to put you up for a few days
if youwould like to stay”?

(1) tolerate someone (2) build something
(3) provide accommodation (4) contribute something
12. What is the meaning of the underlined phrase in ‘How did you wolf down that pizza so
quickly’?
(1) Toeatgently (2) Toeathungrily
(3) Toeatslowly (4) Toswallow slowly

13. Choose the correct order of the following jumbled sentences into a meaningful paragraph.
(@ Wages will seldom rise in proportion to the rising prices
(b) The problem of food is intimately connect with population, the market is governed by
demand and supply
(c) Without enough food, such people lack health, strength of efficiency and they fall an
easy prey to all sorts of diseases
(d) If too many people demand goods to go round, prices will rise and poor classes will

starve
(1) 1-(c), 2-(d), 3-(a), 4-(b) (2) 1-(d), 2-(c), 3-(b), 4-(a)
(3) 1-(a), 2-(c), 3-(d), 4-(b) (4) 1-(b), 2-(d), 3-(a), 4-(c)
14. Choose the correct order of the following jumbled sentences to make it a meaningful
paragraph.

(@) Adove, perched onanearby tree, saw the ant's danger and dropped a leaf into the water

(b) Once, an ant who had come to drink at a stream fell into the water and was carried
away by the swift current

(c) Hewasaboutto fire when the ant, who was nearby, crawled forward and bit him sharply
on the ankle

(d) Sometime after this, a hunter, creeping through the bushes, saw the dove asleep, and
took a careful aim with his gun

(1) 1_(d)7 2_(C)! 3_(b)! 4_(a) (2) 1_(C)! 2_(d)’ 3_(8‘)’ 4_(b)

(3) 1_(b)7 2_(8‘)’ 3_(d)’ 4_(C) (4) 1'(8.), 2_(C)’ 3_(d)’ 4_(b)
15. Fillin the blank:

Manoj played cricket for two days, he?

(1) did (2) didn’t (3) wasn’t (4) wouldn’t
16. Fill in the blank:

Johnson has not prepared for tomorrow’s exam, he?

(1) isn’t (2) hasn’t (3) has (4) does

Read the following passage and answer the questions from 17-20

It was Germany and France that the first successful attempts were made to produce an internal -
combustion engine driven by petrol. In England, people were strangely timid about horseless
vehicles. English inventors were handicapped by a quaint old law that forbade any such vehicle to
attain a greater speed than four miles an hour, and compelled each one to be preceded by a man
carrying a red flag. This law was not repealed until 1986.
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The earliest motor cars were looked upon as mere jokes, or as rather dangerous playthings, by
everyone except their inventors. Some of them were single-seaters, others would carry two or
even three people; but all were noisy, clumsy, queer-looking things. When in 1888, Carl Benz, a
German, produced a three-wheeled, internal combustion car, a great forward stride had been
made. Another German, whose name, Daimler, is often seen on motor cars to this day, was
experimenting about the same time, and testing a petrol driven engine.

Itis understood how the introduction of the petrol-driven engine revolutionalised road transport
throughout the world. Until then the necessary power to push a vehicle along could not be obtained
without the cumbersome tanks, boilers and furnaces of the steam engine. The internal-combustion
engine is light in weight and small in size by comparison; the fuel is burned in it, so that there is
no waste, like the durty cinders of a coal fire.

17. How did most people regard early motor cars?
(1) Not better than horse-driven engines
(2) A mere joke, or as rather dangerous playthings
(3) A mere scientific experiment
(4) Acumbersome vehicle

18. What were all early motor cars?
(1) Aplaything or toy meant for engineers
(2) Avehicle better than horse-driven vehicle
(3) Noisy, clumsy, queer-looking things
(4) Dangerous but beautiful

19. What made the English inventors handicapped?
(1) The general public did not welcome the invention
(2) The quaint old law that forbade any such vehicle to attain a greater than four
miles an hour
(3) Non-availability of adequate fuel power the engine
(4) Awvailability of micro-air vehicles

20. What is incorrect about the internal combustion engine?
(1) fuel burntinitas waste (2) lightin weight
(3) noisyand clumsy (4) smallinsize

21. Whenyou watch India Vs Pakistan Cricket Match Finals, your younger brother asks you to
clear his doubts in Mathematics. How do you respond?
(1) Youclear his doubts patiently
(2) You shout at him for not asking before
(3) You switch off TV and go away
(4) You feelirritated

$0g R0&SSr VS LS 83E Srgis RIS TV &° Srdgdidycdo, oo dkooycho Sy $58
HeBedon HPES® &) DoV e0 8K AL ©&AB AP o DLY?
(1) 3% 6 doBdren LT SHIS
(2) 52038 Joths: BEIBEH ©Y FEDHE wEhTH
(B) TV & o) ddod I e
(4) &% Qoo 5H0d
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22. When you see a child facing a problem in understanding an important concept for a long
time , you advise him to
(1) stopreading the subject (2) leave that subject forever
(3) takeabreakand read it once again (4) by heart the concept

08 ereud 28 SpgRd IARTQ) VSIS BLoKVokEd Reod Heoddd)dyd $oQg
Qo JoTt & erends [ ?

(1) Wy ehHIchtootrto

(2) © $TEY IHBE SESSGoer:

(3) FoBo WY WY whH, SoeE EIFAoTWS0LrSd

(4) ©gomd ®o7d) 2 déydotrdo

23. Itsomebody tries to hurt you intentionally, you should

(1) Retort (2) Cry
(3) Complainto police (4) Ignore
DFBE WD) ST rERLFT S HON)H0B, N do FoSrd?
(1) 8xn&erd (2) Q=g®
(3) &8 oy BaSrd (4) SGowHs Erced
24. Ifyou ﬁ f”fé‘d tells you about his personal problems thinking that you are trustworthy person,
)(/f)u Ssﬂgre it with everyone (2) Feel happy about it
(3) Maintain confidentiality (4) Look at him with contempt
Q&) $Aoy A Wrdocky 5 B, $58K8 dHodged IS TS, Sy o BoSrd?
(1) ©0c508 & DAAST) BFD (2) rsod wer eHokd Ho8RITd

(3) © Sorargody HSHS'I VRFTO (4) VYTHEY weodom WrEd

25. Do you produce awrong evidence to your parents regarding your performance in Exams?
(1) Ido (2) No
(3) Sometimes (4) Depending upon the situation
HOES’ B IS Srd e SK0E EHYE sroed” F0 Srdp e SoRd N
S9Fohos” BINT?
(1) IS (2) IS (3) wdyady (4) Sodond) =8
26. According to you, ‘Gender Equality” means
(1) Havingwomen reservations
(2) Women are superior to men

(3) Menare superior to women
(4) Having equal opportunities to both men and women

D & ZF0S® ‘oK D5rSE0” ©ol g5 QD0E3?
(1) womgs BBg8 850 §0y0w00

(2) Soifard) 808 wdTy) 8

(3) wdare) 0B oKy I8

(4) B DB H5rS BIFTE SoBLO
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27. What does it mean by “Weaker Sections”?
(1) Physically weak (2) Financially weak
(3) Handicapped people (4) People who can’t fight for their rights
‘Do Sooe’ odm
(1) 7888 weirloen (2) eggor weowrdowd
(3) DEeroRoen (4) ¢ SEYeEvo Forwo VoLBITH)

28. You have been waiting for your friend for the past two hours, still he has not yet come. How
do you feel about him?
(1) He does not have time sense
(2) He might be having some problem
(3) If he comes, I will shout at him for the delay
(4) Leaving me alone, he might have gone to somewhere else

QD) Q R)rB §H0 Tow Hobrew $108 B BrITYD), oS T YOS TB. VY
9EQ K000 AW ©3080082057)?

(1) &8 sPwo B e BONG  (2) IS RS erPhdo BRI
(B) ok &, 8™ oIS (4) &89 6B, 208 Y &ET) IenBI!

29. Do you return the money to the owner, when it fell down from his/her pocket?

(1) Yes,always (2) No,lcan’t

(3) Sometimes (4) Most of the times

Q AEM ) $g8 Bewe oD deen BoSHAS, V) & 5388 RWyIT?
(1) 8580z addd (2) S asgs

(3) oBPEDPE @ (4) @od add

30. 'When two persons are quarrelling with each other, you will

(1) Runaway fromthere (2) Joinone side
(3) Pacify two persons (4) Callpolice
QG SgEgen Ferdodrotr HoBl, W T &l oy
(1) ©¥ & $0d FoFe (2) 2% 088 Sevdd Hevdoed
(3) agd Sg&hos ¥g ByeD (4) %% IHSH
1 1 1 1
1-=11-=||1-=|..|1-=|=
o (o3 )
1 n+1 2 1
(1) n(n+1) (2) n (3) n (4) n
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32. Theratio of two numbers is 3:5 and their H.C.F is 5. Then, their L.C.M is
Tok dopgen 35 ARGS® GImon 08w A H.C.F (H.ar.er) 5. 0dvdd & dopge
L.C.M (8.3°.5%0)
(1) 45 (2) 35 (3) 150 (4) 75

33. The smallest number which when subtracted by 11 is divisible by 16, 18, 21, 24 and 28 is
0.8 Sopg Sood 11 EJIS Sard 16, 18, 21, 24 50080 28 oF erfoHad dopged’
©8 QX dopg
(1) 1109 (2) 1119 (3) 1019 (4) 1214

34. Theagesof Aand B are inthe ratio 3:5. Ten years later, the ratio of their ages will be 31:45.
Their present ages are (in years)

A 3508050 B Rng) Sodgyen 315 IQBS’ Gramow. D8 JdodFddne SHard, 570
I3 NG 31145 @H&od. 778 PRE Sadgen (DoIS)ESneST)
(1) 21,35 (2) 24,40 (3) 18,30 (4) 27,45

35. Silver and copper are mixed in the ratios 2:5 and 4:7 to prepare two alloys Aand B. Equal
quantities of these alloys A and B are mixed to prepare a third alloy C. The ratio of silver
and copper in Cis

2:5 08050 417 QKoo' o0& B0 oA 9D A 00w B ol Bod S5
QEFDZ0OL SSrSHBT . € S*5 DEFodnen A, B o dSermes 828 §9% Sordd
S DEFHS0 CJ S8 B, & DEFSsn CS* &) J0b 05w orhe NS
(1) 35 (2) 25:52 (3) 25:49 (4) 15:27

36. Ashop keeper reduced the price of sugar by 10%. A person can buy 2 kg more sugar for
Rs.900. The difference between the original price and the reduced price, per kg, is
(in rupees)
0.8 O5mrddd Holard §ES 10% Shod k. o8 S8 . 900 os® 2Kg © Howard
QEYS FdKocn. 1 kg Sodard Bwg) wden §E8, A0S S8 Ky SgergdBn
(Sraraees®)
(1) 5 (2) 6 (3 4 (4) 3

37. Inan election between two candidates 80% of the enrolled voters voted. Of these votes,
5% votes were declared invalid. The winning candidate got 32490 votes which is 60% of
the valid votes. The total number of voters enrolled in the election is

20 Vg Hocsg BOAS w8 JVEIS® SR Vo &0gS”® 80% Hood L.ex I, &
38 8.S° (VOtes) 5% &en HOGHID TP © Iganowmds. NODS wefgds 32490 &
Samyon. 28 H0 ©ond L8S* 60%. @ond, Ingo SIF Yo LY Howg

(1) 75850 (2) 64750
(3) 82500 (4) 71250
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38. ApersonAstarted a business with investment of Rs.3,00,000. Asecond person B joined A
afterwards with contribution of Rs.4,00,000. If the profit at the end of the year is shared
equally by Aand B, after how many months did B join A?

w8 358 A, w8 argarddndo & 3,00,000 end s (@réodomrd. Sodsreodn Stard
Bk $g8 B &or. 4,00,000 2epacs® AS® Homik. H0S8)crodS08 SO ergddnds A, B

@0 DIrPHB0MT Do, B AQ) Svo dhad AS Jdado?
1) 1 (2) 2 ) 3 4) 4

39. Threeindividuals A, B, C start acompany and contribute a total of Rs.P towards its running.
A contributes Rs.50,000 more than B and B contributes Rs.50,000 more than C. If the
contributions of A, B and C are in the ratio 8:7:6, then P (in rupees) is

S0 Sg8gen A, B, C oo 8. P tnad8® o8 009 (rdodomrdd. B 2838 inad
83) A8S s 8. 50,000 250 S, CES Dénd 88 BES ened &, 50,000
A8, A, B, C 88 enndoen 8:7:6 INGS® woB, vdyd P (Srarahes®)

(1) 10,50,000 (2) 12,00,000 (3) 13,50,000 (4) 14,00,000

40. Theaverage of four consecutive numbers A, B, C, D is 55.5. Then, the product BC =
Jreoid 380 dopgew A, B, C, D © ddéxn 55.9. OBV, ©Ro BC =
(1) 2580 (2) 3060 (3) 3080 (4) 3660

41. Acricketer's bowling average is 9.5 runs per wicket. In the next match, he takes 3 wickets

for 19 runs. His bowling average after this match decreases by 0.1 runs. The number of
wickets taken by him before this match is

08 8806 D), &Oof (bowling) Hrcn a8 J8ELE 9.5 Hhhen. & SHhod DlS*
wE% 19 HmhHen af) 3 JBLy BHETYE. & T SHTE ©SD TR B

0.1 50Men SHod. & FowW 500 VS ST Indgo I8 dopg
(1) 96 (2) 92 (3) 90 (4) 84

2
42. Apersonsold 3 rd of his articles at a profit of 35%. The rest of his articles were sold at a
profit of 23%. The overall percentage of his profit is

2
2.8 538 @8 3¢ ) dH oS’ 3 3 5085, 35% a5 ©doyard. Qe HSB oD

23% orgfSnd8 @I . BIVE VS8 Igo ©INEINS® IYS orel TSI
(1) 27% (2) 29% (3) 30% (4) 31%

43. The profit earned by selling an article for Rs.950 is double the loss incurred when the same
article is sold for Rs.650. At what price should the article be sold to make 30% profit?
28 5993 &, 950 K 9B SN oresn, ©F SBHD> &, 650 8 wE ST) S8
B0 Ben. & SHPB0 2 88 008 30% ereSn Sdyod?
(1) 875 (2) 920 (3) 975 (4) 1025
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44. The simple interest on a sum of money P is =0 of the principal amount P and the number of

1 : : :
years is > of the rate of interest per annum. The interest rate per annum is

1
wden By Paos arerden 5§ P &* =0 {0 ©000, H0W Joddore Dopg T Ew

58S Bifariisn wonod. eHyde $oSEEY $EGL0
(1) 6% (2) 5% (3) 4% 4) 2%

45. ABanklends Rs. 3,00,000 to a person A at simple interest 8% and Rs. 2,00,000 to another
person B at simple interest 10% for T years. If the Bank receives an interest of Rs. 1,76,000
at the end of the period, then T = (in years)

w8 erod, Aol %588 &r. 3,00,000 ol FErSgdd 8% THYS Hodasn B e $588
8. 2,00,000 o sy $5& 10% TIPS T Sologdbsnesn ©IY N0, & FOIN

Y wowd Shard wrosody &r. 1,76,000 $& £, wdydd T = (vodg)dned’)
(1) 5 (2) 4 (3) 3 4) 2

46. The amount deposited in a bank for 3 years at the rate of 10% per annum, compounded
yearly is given in List I. In List I, compound interest is given. Match them

28 @ro8S® HoST I8 FESG 10% FTH9S 3 DoSHBEENO IS Ingdnes HE | &°
25cBS. IEIGe0 G I S° 25@aID B 2EHEBE.

List - | List- 1l
(@) 20000 (i) 7850
(b) 15000 (i) 3310
(c) 10000 (iii) 4865
(iv) 4965
(v) 6620
Correct match is
HOSS £
(1) a-v, b-iii, c-ii (2) a-i, b-iv, c-ii
(3) a-v, b-iv, c-ii (4) a-i, b-iv, c-iii

47. 6 menand 8 women can do awork in 40 days. 8 men and 16 women finish the same work in
24 days. In how many days can 10 men and 8 women finish the same work?

28 HAD BrHS Yoo H080%w 8 K008 Yoo 40 Swed® Grg B, ©T DI 8 H0d
DD 0005w 16 D08 Rev 24 SFwed® Fo B, ©3 HAJ 10 Hod HLoRoeo

$00050 8 H008 Qe ) Fewres® o BE?
(1) 16 2)” 24 3) 28 4) 30
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48. Aperson Acan paint a house in 30 days. Asecond person B can paint the same house in 36
days. Both Aand B work together for 15 days. Then, A goes away. The number of days that
B takes to complete the painting is (in days)

Aol 558 30 Sres® 0l K08 Howod) Boheod. B ol Bodd $g8 ©F 208
36 Sered® howods Bobhred. ASodain B agd 0% 15 e SV, SSHTE
Aﬁgzﬁfoﬁo”c&. ESHAIY B Hrd Bosnerdd 57508 ddohdn (Sereds®)

1) 3 (2) 4 ) 5 4) 6

49. Anperson lefta city P to go to city Q at 6.30 a.m. He travelled at a speed of 90 km/hr for 2
hours and 30 minutes. After that, the speed was reduced to 50 km/hr. If the distance between
the cities is 345 km, at what time did he reach the city Q?

2.8 558 6.30 .M & Hean P ook Heeasn Q8 wohendords. wds 90 km/hr 3K0s°
2 fovre 30 BRI PoSrdomrdd. & Shard IS 50 km/hr 8 ghoa . e

Heapsne B¢y Srdsd 345 kM @008, @8 Hiesn Q 8 Dy Borko?
(1) 10.25a.m (2) 11.15a.m (3) 11.24a.m (4) 11.50a.m

50. Atrain80 meters long is running at a speed of 80 km/hr. The time that the train will take to
pass a platform of length 120 meters is (in seconds)

2§ 80 fbaéoég Fédie w8 Seo 80 km/hr IK0s® HeAGSHG. & Beo 120 fbaéoég

Feorh fo o8 Jnddo (platform) & Tenes SSeds dHochin (PEogs?)
(1) 6.5 (2) 85 3) 9.9 4) 9

51. ¢ and g are the roots of the quadratic equation px2 +0x+r =0, Match the items in List
land List I

58 BDoEGI0 PX°HOX+T =0 Gy Soreoren o 508050 f. 588 | So8ak0 38 Il
S* QYS B wEHEL&.

List - | List- 1l
538 - | 538 - 1l
1.1 g’ -2pr
() a+ﬂ () 0’
a p . gi+2pr
_+_ -
0 5, iy~
2
... g =2pr
2 2 a1 =F
© o?+p (i) =
iv) -

;
Correct match is

DO 1
(1) a-iv, b-iii,c-i  (2) a-iv, b-ii, c-iii  (3) a-i, b-iii,c-iv. (4) a-ii, b-iv, c-iii
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52. Three cubes with sides in the ratio 3:4:5 are melted to form a single cube whose diagonal
is 18+/3 cm. The sides of the cubes are (in cm)

3:4:5 dHBS® ghasown Ho Sordd wSsnos E0A0D, 18V3 §¥o Ko o PoSsn

SASFERANDEIS. & PSS0 ghHadnen (Do.dowes?)
(1) 34,5 2) 6,810 3) 9,12, 15 (4) 12,16, 20

53. Aladderwhich is touching the top of a pole makes an angle 60° with the floor. Its lower end
is at a distance of 4 meters from the pole. The length of the ladder is (in meters)

08 Qo 308 8 &) w8 IFS IJod 60° Sdn BAFod. & IFS Bod &S

R0gB0I8 4 i SrdSns® BB, & IS BnE, PEH (Wds’)
1) 6 2) 8 3) 9 4 10

54. 1225 +/0.0615+ X =35.25 = X =
(1) 0.001 (2) 0.0001 (3) 0.02 (4) 0.01

55. If2a=3b=4cand a+b+c=26v61, then \/32 4 p2 1 c2 =
2a = 3b = 4c wow, 0080 a+h+C=26161, wond, w3 /a2 +p?+c? =

(1) 144 (2) 361 (3) 104 (4) 122
56. The dimensions of kinetic energy is same as that of
(1) Force (2) Work (3) Momentum (4) \elocity
H@2¥g Boof), HOSFSN & §0d TIST BIS HETEBNT ok
(1) =0 (2) % (3) GSgrfo (4) Ko

57. Theinstrument used to measure sounds under water is
(1) Hygrometer  (2) Hydrophone (3) Hypsometer (4) Gramaphone

35 AGSISESIRSISVIALIRES GIRFHOW HOEEI0
(1) e (2) T E>S (3) ramiaH (4) oS

58. Convert 10 inches into kilometers

58 (10) wohered 85 LYS A Srdy)Hn
(1) 254 x 1073 (2) 254x10%  (3) 254x104 (4) 25.4x104

59. A monochromatic radiation was beamed on a distant planet from Earth and the reflection
was received after seven minutes. If the velocity of the signal is 3x108 m/s, then the distance
between the Earth and Planet in meters is

08 S EIrBE BEADASKH o ook Srddnm &l Ko 88wdoxzo (beam)
V7. ©b HoSISS0 Tod A AT SHTE BOIL. wEIY S Bwg), Ik
3x108 m/s ¢oB, &> $98050 (Sro Kogy ) Erdsn s

(1) 3.15x108 (2) 3x10%° (3) 6.3x10%0 (4) 3.15x10%0
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60. The value of Planck’s constant in Sl units is
SI oﬁw&’)éoe’)”“ 0§ coc"oéo (Planck’s constant) Qe

(1) 6. 62 x 1034 Js (2) 6x10%Js
(3) 10x105Mm-1 (4) 8.314x1077)
61. Which of the following is not an antibiotic
(1) Erythromycin (2) Tetracycline
(3) Oxytocin (4) Ofloxacin
& 806 )N 8BS 28 HBroairid§ 50
(1) VS0 (2) BEr8S
(3) 8)es®>S (4) eSS
62. Chemical name of Dry Ice is
(1) SolidH,O (2) Solid O (3) SolidCaCO; (4) SolidCO,
@ PR BWE), SIS F°H00
(1) 8 H,O (2) 05 Og (3) % CaCOs (4) D08 CO,
63. Which one of the following atmospheric layers help in radio communications
(1) Troposphere (2) lonosphere
(3) Stratosphere (4) Mesosphere
& 808 0OYK) TeHdn FEOS’ IO TARr EX0rgATANE DFP0HEIS0
(1) e*Fyoss (2) ©aHTRYHE
(3) FeRyo%s (4) f’.)o@*?oo)oéog

64. Among the elements given below, which one has the highest electronegativity

& 80¢ 087K) Sorosines” B8 98 I8 S w00t S EE Sok
(1) cl (2) Br 3) O (4) N

65. For an endothermic reaction where AH respresents the enthalpy of the reaction, the
minimum value of the activation energy will be

08 GRITTE BEZST D0Frdy BwE) $8g5 AH 0 58008 &828 §§ Hog), 0 S5 S
dend (Minimum value) ger dodod

(1) <aH (2) =AH (3) >aH (4) Zero (525
66. Arrange the following atmospheric layers in the correct order from bottom to top

A) Exosphere B) Troposphere

C) Stratosphere D) Mesosphere

& 808 0OYE) Teridn Fol Bod Kol P8 VB S0 G0
A ISHyes  B) @ahyahs ) gettyons D) odtyahs
(1) AB,CD (2) B,C,D,A (3) C,D,AB (4) D,AB,C
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69.
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The term “Dark Fermentation” means

(1) amethod to reduce CO, in the atmosphere

(2) amethod to produce hydrogen as fuel from waste water
(3) amethod to dispose nuclear waste

(4) amethod to produce methane from organic waste

‘@8, $3o8AS” (Dark Fermentation) edm

(1) sersdnsns’ COy S ol Ioedkw

(2) Sggmeo 0d TIEFRIH w8 R0EI50 ErdINS” &G T I D0
(3) Srg80%8 $gord) SOOI Do

(4) ook SggHn $r08 WNBIK &G Vo IFTISn

Which of the following is correct for Carbon Monoxide

A) Itis produced in the human body

B) Ithelpsintreating sickle cell anaemia

C) Itacts asa neurotransmitter

(1) ABandC (2) Aonly (3) AandC (4) Conly
S IrTHEE HDo20HoD & ol W& D) FES® HBIH A
A) 08 $85 88508 eS8 e

B) @& 285 S QA0S0 QEH) BO%0E80 DIt AHDNBS
C) & ¥ Srgditry)dotd orm HAVSS

(1) A B%0dasnC (2) AlegRo
(3) AB0dasn C (4) C S»e

Biological oxygen demand indicates
(1) High level of microbial pollution (2) Low level of microbial pollution
(3) Absence of any pollution (4) Water is highly pure

w0eresS wfms d3ro& BAJ JordB0?

(1) 2898 oo SrHEde seoigind (2) #8598 Foo WrHEYe seoigdns
(3) Dol sPendgsn BEFHL (4) Q& 08 HguHyFse

Carbon credit is

(1) thedifference between the carbon emission allowed and actually emitted

(2) aloangivenbyaBank

(3) ameasure of high quality of living standard
(4) the amount of carbon in water

e B&E wdmr

(1) 3508008 5°G)S INASH 508050 FR[oM A BN TEIK ) Sgavgdo
(2) 28 ergodo ad)S &'

(3) =8 RFon gl SOAS B8 BIrmo Feothes

(4) ABS® 08 G &HE 8OoHBEL
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71.  Which hormone is responsible for stress, anger and high BP

(1) Oxytocin (2) Thyroxin

(3) Adrenaline (4) Galanin

288, D50 500050 S DD O TS wrggd $5308?

(1) e98)85°2S (2) Boo§)s (3) A&OS (4) Kol
72.  Which of the following is known as animal starch

(1) Cellulose (2) Glycogen (3) Chitin (4) Pectin

& 808 BS” BAD 2o F§) wotrdd

(1) eoges™ (2) n&=as (3) 38 (4) =88
73. InRNA, nucleotides are attached by

(1) Peptide bonds (2) Hydrogen bonds

(3) lonicbonds (4) Phosphodiester bonds

RNA &° g8 Br8&) IS 50856 evotron

(1) ‘wgé 205" Q0 (2) T &sS womren

(3) 58 o5 (4) TIBIPS wozren

74. The universal acceptor blood group is
28 IS NS bk (1°)

(1) O (2 A 3) B (4) AB
75. The largest organ in human body is

(1) Brain (2) Heart (3) Skin (4) Liver

SPSE FS5NS" 08 DY ©B5%K0

(1) s (2) Koo (3) W0 (4) s8o%o

76. Find the next number in the series

& BBS” SHard Hu) Dopgd TS0
0, 3,8, 15, 24,
(1) 36 (2) 35 (3) 34 (4) 33

77. Findthe number in the place of question mark (?)
DFGES (?) S GodSdS dopgd ESrdos

AOA A
A NEALN
(1) 21 2) 22 (3) 29 (4) 20
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78. Find the next number in the series
& BBS’ SHard H) Dopgdy TS0
1,1,2,3,58,
(1) 13 (2) 15 (3) 19 4) 21

79. Find the missing number in the series
& @FBS° S*000S (°SQ) Domgdo EHoFK0d

9, 25, 49, , 169
(1) 100 (2) 121 (3) 64 (4) 144

80. Observe the figures given below. Fill the place with question mark (?) with suitable number
Bod Hadnos HBRO0D PBTPESN (?) T'b &odSedS Dopgdy EFI0d

2 3 4 6 5 ?
9 4 36 | 16 49 | 25
(1) 6 2 5 @) 7 4) 9

81. Observe the following figures and find out the values of P, Q
& 1808 DLodned H8390Y, P, Q o denden EHASod

AN A AN AN

1) 4,8 2) 5,7 (3) 5,6 @) 4,7

82. Find the next number in the series
& BBS® SHard Hu) Dopgd TS0
3,10, 24,45,
(1) 60 (2) 84 (3) 73 (4) 76

Observe the following information on viewership
of TV Channels, pertaining to families of an Hindi 3
apartment, and answer the questions from83t0 85. o RO

28 OFFH0oNS Sotwowro T8 DB TV AVA

T°R) VST D200 83 Lok 85 HI Ko
P dSrgrdsneds f8otod Telugu
S0
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83. How many families watch Telugu channels?
B0 TIG)K V0T Sotwoere Hopy Dog?
(1) 6 (2) 8 (3) 12 (4) 14

84. How many families watch English channels?
20/ TIGH 280 Stwowre Dopg Jog?
(1) 14 (2) 21 (3) 17 4) 7

85. How many families watch both Hindi and Telugu channels?
08 B80S e I Bo&0LA V§oW Sotwoere Hopy Dod?
(1) 6 (2) 4 (3) 7 4) 17

86. If Redis called Yellow, Yellow is called Green, Green is called Blue, Blue is called Pink,
then usually leaves colour will be
(1) Green (2) Pink (3) Yellow (4) Blue
083¢ AP0 DY Dy, DY DB BB, $BDFH Jwordd, Jwod
B0 o 808, rardomont eioen € Soke® eotron
(1) e85 (2) Boord Soid
(3) Doy Dl (4) Qoo

87. IfUMBRELLA iscoded as VLCQFKMZ, then JUSTICE is coded as

2.§3¢ UMBRELLA &% VLCQFKMZ r &%, JUSTICE o3 $o°d) aor $r03:
(1) KSSTIBF (2) KTTSICF
(3) KTTSIBF (4) KTSSIAF

88. If TBDNO is coded for SACHIN, then which of the following words is coded as IZVOEBJ
283¢ TBDIO & SACHIN & §°&m 3000, IZVOEBJ & o $ad8 §°&m doeDowlsey)?

(1) SAMURAI (2) MARUTHI
(3) HYUNDAI (4) CRICKET

89. If TEN, GANG and MEAT are coded as 439, 6596 and 1354 respectively, then how is
MANAGEMENT coded?

2.83¢ TEN, GANG 08080 MEAT o3 dmrod S8dm 439, 6596 Sodasn 1354

570%, MANAGEMENT &3 $5°9) der $r0nt?

(1) 1595363194 (2) 1595313694
(3) 1595361934 (4) 1595631394

90. If 15t April of year falls on Sunday, what is the day on 15" August of the same year?
(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

2.8 Jod&Ed0 QRS 2.8LS BOS BHTELN W03 & oSS TS0 esihy 159 88 @
&erd 5300872
(1) &FSoarssdn (2) Sookgas8Sn  (3) engardSu (4) KSarsSn
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91. 15" August, 2016 falls on Monday, what is the day on 15" August, 2017?
(1) Monday (2) Wednesday
(3) Sunday (4) Tuesday
15 5y 2016 S oo wond 15 erdy 20175 o &er wH&od?
(1) &FSoarssdn (2) ewugorsSn
(3) &80 (4) SooKgES0

92. Secretary has arrived at 10.10 am, 30 minutes before chairperson. Chairperson arrived
10 minutes late to the scheduled meeting. When is meeting scheduled?

28 D3,rIF5088 FPusHeoso PELomrS 10.10 am s 55365&. 90308 @5&6{35 808
30 doiren H0 S, BE HHITH RLRE (‘Ogé DF0a5rd8 10 D.e0 esedgorr
S0, BETHE DO HB0HBN Jos?

(1) 10.40am (2) 10.10am
(3) 10.30am (4) 10.20am

93. Shankar is 81 from top and 24™" from last in his class. How many students should be added
to make the strength 40?

F088 &8 SBHBS” B0dE Soo& 85 PIoS’Ro DH0 Ko0d 245 FHoS'H Gk, ©
SSK8S° Ingo Amghe Dowg 40 GoFTwos K08 Jod Hod ITgho SeoIrd?
(1) 8 2) 9 3) 10 4) 16

94. AGirltravels 6 kmand takes left, further travels 8 km. What is the straight distance to that
position, from the starting point?

8 @ér&ooo 28 &sﬂazre'i‘ 6 8.20°. SA&NS SIS QBRI BBA &8 8 8.2, [HSre3 0D S,
HRYE50 B BF) TTIE H00%H BNGL woHBES FTVE &) Ero Dod?
(1) 12 km (2) 10 km (3) 9km 4) 14km

95. Whenaclockis showing 10 ‘O’ clock, the hours hand is showing north direction. At what
time does the hours hand show ‘southwest’?

$&osrdo 10.00 3500500 SrD0RSYHE Kobe Sney 88 BF Y rdR, ) dISrI8
Hotoe Sney 08 (south-west) &3S wWrdgos?
(1) 5:15 (2) 5:30 (3) 4:00 (4) 4:30

96. Observe the sequence given and find out how many letters are immediately followed by a
number and preceded by a symbol?

QNS B0 H8300D, Q) WETTeY T 500l 28 NP HBWN SHTE 2.8
©08 898 &R HYowod

M*K5L*N3X?P4*LM%N4
1) 2 2) 3 (3) 4 (4) 5
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97. Threeengineers P, Q, R are designing a project. Can we find out in how much time all the
three engineers will complete the designing, observing the following statements?
. P &Q can complete the design in 2 months
II. Q&R cancomplete the design in 1%2 months
lll. P &R cancomplete the design in 3 months.
(1) 1&Ilaresufficient (2) I, I &Illare sufficient
(3) I, Il &lllare insufficient (4) 1&Illaresufficient

P, Q, R o3 S 20006 of B85 885 3o, & 808 BEvses 565000,
& S0 2028 & DI I) Feres” Fd BRG® ST SSWS?

. PX0d0sn Qeo 3oi Jwes® ARIK g B

Il Q%00 Rea8BHS Jves® GBS Fro B

. P %50csn R ev Sord Ius® GBI I BN

(1) 1500050 Il 08 8 SSusydo (2) 1, 15008050 o0& 8Soir S8y

(3) I, 11 308030 ll ©&° 803850 (4) 1500050 Il 08 S SSuSyco

Study the data given and answer the questions 98 to 100 based on the same.

Six friends A, B, C, D, E and F are sitting on the corners (vertices) of a Hexagon shaped table, all
facing towards centre. * A’ sits between F and C. D is on the second right of B and is the immediate
neighbour of C.

Bod aNI $&r07°Q) H83O0D 98 Joo&k 100 8% Ao PWHOLH 2aHOB0Y

BHE DdEhes A, B, C, D, E 508050 F en 28 Sd)2 e5°do Ho 2g Sroo (%%w) ~1alo]
$0Egs Srdo Erdyadd. F 0880 C o Hodgd A Srdyyanych. B § 5439 Bods ordh
D 08050 D § 988 C wanydd.

98. Who sits exactly opposite to E ?
E $ pdydorr dehdom Q58 Erdy)am)&a?
(1) D 2 C (3 B 4) A

99. Who are the two immediate neighbours of ‘B’?
B 0 260390 &d) ags I587?
(1) EandD (2) FandE (3) CandB (4) AandD

100. Who is sitting on the side exactly opposite to ‘D’ ?
D & pd)dorr dcdm A58 Erdy)ans?

(1) F 2) B @ A 4 C
101. Atwhich Indus valley site maximum wells were discovered?
(1) Harappa (2) Mohenjodaro (3) Dholavira (4) Kalibangan
0G0 TRBESK BodS O WBFSNS® wEshHEom erPHen S8 adar0x0?
(1) sy (2) oo’
(3) Sodor (4) 592088
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102. Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R):
Assertion (A) : Iron technology played a crucial role in the expansion of the Aryans into
the Gangetic Valley.
Reason (R):  The Gangetic valley had thick vegetation which could be cleared only by
implements of strong metal
The correct answer is :
(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both(A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)istrue but (R) is false
(4) (A)isfalse but (R) is true
& (808 2H006S Toty arEgdnen 288 PSS (A) Sotk soddn (R)
R8>S (A): g Jordd (@PodSnsH JYdowkos” aled J0SBE Hdepdo
SopgRoond TG SeroRod.
sd0 (R):  Homrdd H0oirs (rodios 63500008 ©dego wodod. H) weFod
SE HOB0LE SrE SoNoSTAE JewHEod.
HOGS BSTTHS0
(1) (A) $08030 (R) @0 Bodkor dezo 508050 (A) & (R) 28008 S8
(2) (A) %8030 (R) o0 Bodr dzo. 570 (A) 8 (R) 38w00d 580 570
(3) (A) dzo (R) 85y
(4) (A) 853 (R) dzo
103. Read the following and identify the wrong one.
(1) Buddha gave his first sermon on deliverance from suffering to his five former
companions in a deer park near Benaras
(2) The ultimate goal of the Buddha's teachings were the attainment of 'Nibbana' i.e,
liberation from the cycle of birth and death
(3) Buddhist nuns strictly avoid following; theft, sexual activity, lying, use of intoxicants,
eating after midday, attending entertainments, use of perfumes and jewellery

(4) Buddhist texts reflect revolutionary ideas about women and stressed that women should
have freedom to shape her life and personality

Bod Targdsned® J& HBWod 5%

(1) 5390 rdoss 57800 & Adm o NoHoP S8 FERdE HKoBTR) Wk
S5 ©oBRHE P HTBH0R B ED HDHINS® Ko Bosw ENS" DIDORD

(2) 2060 Boog) drGdne ©o8% &FFo VS’ FPotido oI IS Hoderren
¥I SEo o0&k JB0EI FFoddo

(3) TESs agSoeo (NUNS) & Bod TBI o™ Sgeotdocsnd. ©d IS :
SPoREIK00, %aomc%aoé‘ FTI o0, @aodéo Bk, 308y KJCS"gé.)eJJ 60, SoTrgT™0
Soogd ftudo Bado, Lorogrodgtoond SHHew TEdo, 8T I3 2O
5PEgErNN0NOB Brdon troddo 8% wideadnoln §dodo

(4) ﬁcgéoé BogSaen éooeJ DACHI0S® Z)é@é@)ééoowc‘ﬁ NN O G I0%. S0
Boof), FAAgED0, 8850 Yo owhHBS VEFTEIN T VD LB ow.
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104. Which of the following text does not come under Sruti literature

105.

106.

P31

(1) Brahmanas (2) \edangas

(3)

Aranyakas (4) Upanishads

& (808 TAS'Y Q) oo #HB TxoHoS® grro T

(1) im0 (2) IzrorSoen

Match the following

List - |

(Ashoka's minor rock edicts)
Rajula Mandagiri

Brahmagiri

Nittur

Rupnath

& 808 T BEDSEIBW
e - |
(28°500 B0, 6 08 TOI80e)
orere 00AD
(CSESpYate
(c) JdsxE
d) &rdd
The correct answer is
BOROE BSTESHN
@ ®® © @
Q) i ii i v
(3) il iv [ ii
Match the following
List- 1 (Authors)
(@) ILangovadigal
(b) Sattanar

(c) Tiruvalluvar
(d) Nathamuni

& 1808 T BEHKTS0
2@ - | (85020e)
RO IRKS
Jd8°6
(€) 8HhJoras
(d) ES0
The correct answer is
BORS BSTEHBHN
@ @® () @
i i I 1Y

1% ii [ i

@)
(b)

@)
(b)

1
(3)

21-A

(3)

(i)

(i)
(iii)
(iv)

(1)

(i)
(iii)
(iv)

(i)

(i)
(iii)
(iv)

2)
(4)

©eagsoen (4) &398Khen

List - 11

(Its present location)
Chitradurga district, Karnataka
Bellary district, Karnataka
Jabalpur district, Madhya Pradesh
Kurnool district, Andhra Pradesh

e - |l

(D Boog), @RS (@00)
DSES Ber, S8
B0 BT, éq;éoé
2056 B, DEYRORT
EEmS Ber, oSBT

@ ® () (@
ii [ ii Y%
1Y [ ii iii
List- 1l (Texts)
Manimeklai
Silappadikaram
Nalayira Divya Prabandam
Tirukkural
e - 1 (o)
Soe3Bond
ISk alopete
doono® 83 Wwogo
8KE) IS
@ @O «© @
[ ii Il Y%
ii [ iv iii
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107. Identify the wrong pair
(1) Chera-Bow (2) Chola-Tiger (3) Pandya-Fish  (4) Pallava-Peacock
& 1808 TAS® DB HOWOND ST

(1) BS-dexn (2) S¢-HO (3) rocg-TH (4) H05-3%508
108. Arrange the following Ayurvedic doctors in a chronological order according to their

existence

a) Jivaka b)  Vagbhata c) Sushruta d) Charaka

& (808 9050058 IEogoy T ASZVoDS ey ) ESrSorEon TPasnk

a) 2380k b)  arrendo C) Dbk d)  SEBs

(1) dabec (2) cbda (3 acdb () bdac

109. The early Sathavahana coins were discovered at

(1) Kotilingala (2) Paithan (3) Nashik (4) Dulikatta
FO FTEITIT OO FBIVOD I & ©IgB000I 00
(1) &§eSdomre (2) 2o (3) o8 (4) S»98¢
110. Inwhich language many Kanishka coins and inscriptions are available
(1) Prakrita language (2) Bactrian language
(3) Greek language (4) Afghani language
EAR By, TBB0ed $00I0 THSHN AEYIT @ PAS® ©EgHP)BoT00
(1) &8s oa (2) wfoss wrd (3) BF i (4) o9 ¥d
111. Match the following
List - | List- 11
(wars) (year)
(@ First Tarain war (i) 1191
(b) Khanuawar (i) 1576
(c) Talikotawar (i) 1565
(d) Haldighati war (iv) 1527
808 T BEHSHWoB0
e - | e -
(oS00 S0 e0) (D0S58)ES0)
(1) BoosE Sorond asngo (i) 1191
(b) srerg oSogo (ii) 1576
(c) 98¢ osngo (iii) 1565
(d) SQmE oSngo (iv) 1527

The correct answer is
BOGIS DIPETHED
@ ® @© @ @ O «© @
ii i v I (2) i v I I
(3) il ii [ iv (4) iv iii ii [
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112. Which one of the following statement is not correct about Vijayanagara period?

(1) Abdur Razak, a Persian traveller observed about city of Vijaynagar “the city of
‘Beejanagaur’ is such that the eyes has not seen nor the ear heard of any place resembles
itin the whole world”.

Krishnadevaraya though a follower of Vaishnavism, treated shaivites, Jains, Christians

and Jews with kindness and compassion

(3) Irugappa, the general and minister of Harihara Il authored ‘Nanapatharatnamala’

(4) According to ‘Rayavachakamu’ there are five kinds of forts in Vijayanagara kindom:
giridurga, staladurga, Jaladurga, vanadurga and parvatadurga

& 800 TS Q) TPrgdo BAIREBENHE Ho0HON BB WoNSH 57

(1) 838 SBro@Bocons ©end S8 JuaSHEIND Ky D58 “HaSKrs Heao
o8 T°Q) @HOWINS® IF ¢ SFEBED IV HFodoRT

ée)gaéc"oﬁoe» SRV0EBI08 ©H500DOVINNIE FYol, B, BIPodo $08050
Borhod TEogos” WPITrI0T W

(3) TodS OHT D BE), DITHHS ©0d VKDY, ‘THS SHIre’ @ Kot
EDoRS

‘T0hau80” (H5°E0 DecHIKE TragoS® W0 E5Pw §en BoR. ©d A0,
“ge; Cogden, 2olidine, S3988B00 B HEEE SogSwen

(2)

(2)

(4)

113. Match the following
List - | List- 11
(Kingdom) (Ruling Dynasty)
(@ Ahmednagar (i)  Adil shahis
(b) Berar (i) Nizam shahis
(c) Bijapur (iit) Imad shahis
(d) Golkonda (iv) Qutub shahis
& 1808 I°AD 235N
e - | e -
(oresgo) (H8XO0NS H0%0)
@) o&ESK6 (i) ©6S oren
(b) BoS (i) QS0 Toren
() DerHyrs (i) 208 e
(d) &Aoo (iV) %S rdren
The correct answer is
BOROS BSTESBHN
@ b (© (d)
(1) i ii i v
(2) v [ ii iii
(3) i iii [ iv
(4) iii ii [ iv
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114. Name the Medieval Sultan who imposed a ban on “Sati” condemning it as an unfair practice

(1) Balban (2) Alauddin Khilji

(3) Muhammad bin Tughlaq (4) Firuzshah Tughlaq

Soggosnto o8 J DS V8 wErEind GTTrEid Ao AudoB

(1) eree (2) woreadsS £

(3) 5mEHS i (4) 26°Er LiS
115. Which one of the following temple have erotic sculptures in large number

(1) Ramappa Temple (2) Konark Temple

(3) Pattadikal Virupaksha Temple (4) Brihadishvara Temple

& 808 soHB0S® BIS® ST TEeoB FHomsd FoAtes” Erads B dsnen o

(1) oy daredio (2) §erb), Borwco

(3) HYEES S0k Ho JErrg Barewodo (4) a)r&dd daredho

116. Assertion (A) : The Mughal emperors had complete sovereignty, not only internally but

also externally

Reason (R):  They refused to recognise any external authority like the Caliph as their
superior

The correct answer is:

(1) (A)and (R) are true (R) is the correct explanation of (A)

(2) (A)and (R) are true (R) is not the correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)isfalse but (R) is true

@8FSS (A): woddgorn 5°Q, erirgomr M I0HS Fren P FPEF SreTEH5008
89 w8

580 (R): A& A58 Somgorr pdr BuE) w5 EHRNK K80uBE

HOES BETTHB:

(1) (A) 08050 (R) dezo L08050 (R) (A) 850 38 @o0nd IS8

(2) (A) %0830 (R) Bodr dzo. 572 (R) 8% (A) 98290008 58 5760

(3) (A) dzo 522 (R) 8y

(4) (A) 853 572 (R) dzo

117. Which one of the following fort was not conquered by Shivaji from Bijapur

(1) Raigarh (2) Javali (3) Kondana (4) Torna
& 1808 T8S® A Tt 3, DerYrs od SEouB
(1) oroSi& (2) 59 (3) To&d (4) &
118. The firsttelegraphic line introdued by Lord Dalhousie in 1853 ran between
(1) Bombayand Thana (2) Calcuttaand Madras
(3) Bombay and Madras (4) Calcuttaand Agra
1853¢5° &S5 g8 (HRF0&L0dS Sod8ien (telegraphic ling) €s8od a3 Socsg I Ed
(1) eroB 00050 o (2) Eoés $000%n LT
(3) «wrod LB LR (4) Eoée 500050 e
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119. After observing the early Indian National Congress activities who said that “The Congress
is nothing but a three day thamasha”
(1) Dadabai Naoroji (2) Ashwini Kumar Datta
(3) LalaLlajpat Rai (4) Aurobindo Ghosh

vPo rdd B0 SoR0 B FOTE SEgERtNOR KD0D “SoRD WoB S
o e &5) 508 5" ©d $&Jobd

(1) ooreron I6°2 (2) @3 Hir6 S

(3) wrorwEds orok (4) ©8Ho& 5

120. Which one of the following statements is wrong about ‘satyagraha’
(1) Satyagraha considered as ‘Love Force’ and “Soul force’

(2) Satyagraha conceived as a weapons of the weak
(3) Satyagraha conceived as a weapons of the strong
(4) The aim of the satyagraha is the conversion of the opponent by self suffering

& 800 ROFEHOS® A& D YRIrEnSE HoW0HOD BB WoN0d §°G

(1) Ddergiiro @oB (28 $0808» ‘Wodord)'S’ sonotto

(2) derguiiro wewrde GBng) Was0Eo

(3) Dergidro wodode GBwE) easnEo

(4) Ddergiiro GwE), &3F0 JH008 S5HS K0 HAEET JSBITOD Srd)osn

121. What is the original name of Bodhan

(1) Indur (2) Andhaka (3) Mulaka (4) Podana

SES Hrdy TS0 DDE3?

(1) =086 (2) ©ogs (3) S (4) >
122. Match the following

(@ Halika (i) Carpenter

(b) Kolika (i) Cultivator

(c) Kularika (iii) Weaver

(d) Vadhika (iv) Potter

& 808 A 23880 BHTIH0

(@) oS08 (i) Sgon

(b) &% (i) Sgdarasomdodd

(c) &eod% (i) 38338

(d) sas (iv) %0500

The correct answer is
BOROE BSTESBH»
(1) a-ii, b-iii, c-iv, d-i (2) a-i, b-ii, c-iii, d-iv
(3) a-iii, b-iv, c-ii, d-i (4) a-iv, b-i, c-iii, d-ii
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123. Atwhich place in Telangana large number of Roman coins were found.

(1) Keesara (2) Chaitanyapuri (3) Gutiparthi (4) Saleshwaram

BLOMRS™ & DRSS’ DEING0S® B TBR0ew oHYBI 00

(1) &3¢ (2) BS55H0 (3) Koe3H8 (4) B850
124. In Ancient period which one of the following Rivers was called ‘Telivaha’

(1) Kirishna (2) Godavari (3) Manjira (4) Musi

DS 700" & 8§08 IS A& BOFH m DenIndod?

(1) & (2) A=s8 (3) Soodoe (4) Sord
125. Who was the author of the text “Kavijanashrayam’?

(1) Somadeva Suri (2) Pampa

(3) MalliyaRechana (4) Satyasraya

EDRTF000” Ko SuSond DH58?

(1) ¥0B5378 (2) Hod (3) 0o TS (4) DdegEod

126. Bawari from NorthernTelangana was converted to Buddhism and he was the earliest to
propagate it. Which one of the following text mentions about him?
(1) Suttanipata (2) Kalachakra
(3) Gadhasaptasati (4) Kathasarithasagara

& S8 Boomrnd BodI &rHd TR Q) VEE00D TAD T°gey BT, WS KBoD &
808 HoTod® 6 8wysod?

(1) Hogdars (2) souE (3) e $HEe (4) Sprdoenis
127. Which one of the following was called Sultanpur during the medieval period?

(1) Karimnagar (2) Warangal (3) Nizamabad (4) Medak

$0¢5g BNMTeS® &% 808 FIS” BIJ eSO HeoSadod

(1) 880316 (2) S8oikS (3) JderSrerd (4) 30§

128. Which one of the following Dynasty introduced the Ayagar System in Village Administration?
(1) Satavahanas (2) Vishnukudis (3) Ikshvakus (4) Kakatiyas

& 808 T S0T0S” I ([P0 DOFOSST @aHmE AT PIFTDLT D

(1) wgadioo  (2) dysoden (3) asgsoen (4) s E8c30en
129. Where did the Battle between the Kakatiya armies and Jampanna, the son of Sarakka took

place?

(1) Dayyalamadugu (2) Muzzampalli

(3) Manchukonda (4) Dharmaram

58805 RITGOB BB FEE), Bodrdady 20008 iy oﬁoogo Q8 ¢ 220808

(1) Sosrge Socko (2) 00gond

(3) LSoowsoFos (4) &omyso
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130. Match the following :

(@ RelaDance (i) Kondagattujatara

(b) Gusadi Dance (i) Limbadrigutta

(c) Mutyampeta (iif) Koyas

(d) Bhimgal (iv) Gonds

& 808 A eSJLYD0

(@) Ter Sysg0 (i) Sodney =sd

(b) dr>é Sysg0 (i) ©oer@ioy

(C) Sowggoe (iii) &csoen

(d) dIsS (iv) Aodoen

The correct answer is

BORE BSTEBBHN

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii

(3) a-iii, b-iv, c-i, d-ii (4) a-iv, b-iii, c-ii, d-i
131. Accordingto which inscription ‘Rudraveda’ was called as ‘vinayabushana’

(1) Hanumakonda Inscription (2) Mallapur Inscription

(3) Tripurantakam Inscription (4) Draksharama Inscription

Q TI80 HIBBHA ‘DI Ry’ 9 BenHEod

(1) HHossol THdo (2) Hoodrs Tdso

(3) ©JHorosdo T3S0 (4) o FTHso
132. The Perini dance performed by women for the pleasure of man was known as

(1) Lasyam (2) Ramyam (3) Bhogam (4) Rasamayam

DSOS SorodTatro §do L?_oaeso T 20D $yB°gR) DB00trd

(1) erdgo (2) &dogo (3) =Ko (4) 83B00%0
133. Match the following :

(@ BayyaramTank (i) Jagadala Mummada

(b) PakalaTank (i) Prolaraju |

(c) Kesamudram Tank (i) Mailamba

(d) Nagasamudram Tank (iv) Nagambika

& 808 A 2SJEYS0

(@) adSrgdo BKH (1) =dzre $208520)0

(b) o BSHY (il) JIosE @Foorer

() Bd3nEo BKY (iif) Soerow

(d) KIS0 o BED (iv) oo

The correct answer is

BORS BSTESBHN

(1) a-i, b-ii, c-iii, d-iv (2) a-ii, b-i, c-iv, d-iii
(3) a-iii, b-i, c-ii, d-iv (4) a-iv, b-iii, c-i, d-ii
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134. Which of the following Diamond Mine locations is wrongly Matched

135.

136.

137.

138.

P31

(1) Kolluru - Guntur District
(3) Vajrakarur - Chittoor District

(2)
(4)

Paritala - Krishna District
Gandikota - Kadapa

& 800 Sre Ko PiTLS' I8 SYT 2SI

(1) Sord - ot 2
(3) S@8Ers - D&nd 2o

(2)
(4)

HdEre - ée)%f B
Ko&8%¢ - 8&H

During the Qutub Shahi period which of the following place was famous for Indigo

production

(1) Kolar (2) Nagulavancha

(3)

Nizamabad (4) Mantena

BT HBTFOSTOOS & 808 TES B IO ok eEYB8 HHY Bokod

(1) &b (2) ohoSos (3)
Match the following :

(@) Sivadevayya (1)

(b) Ekamranatha (i)
(c) Manchana (iin)
(d) Shakalyamalla (iv)
& 808 A 2SJLYD0

(@) 25THas0g (i)

(b) Qs Boargaco (i)
() Soowd (iii)
(d) =8ogse (iv)
The correct answer is

BORE BSTEHHN

(1) a-ii, b-iii, c-i, d-iv (2)
(3) a-iii, b-i, c-iv, d-ii (4)

Arrange the following in chronological order

(@ Sikander Jah (b)
(c) Nasiruddaula (d)
& 8080 AV FrOER0M 08B0

(@) 2Bo&S = (b)
(C) S Fer (d)
(1) d,ac,Db (2) ab,c,d (3)

Qe dorerd (4) So0083

Pratapacharitramu
Nirostya Ramayanam
Purushartasaram
Keyurabahu Charitra

R&°D WoEo
A8Hg oo
Qg ado
Bodorderdv WO

a-1v, b-ii, c-iii, d-i
a-iii, b-ii, c-i, d-iv

Mir Mahabub Ali Khan
Nizam Ali

AE Hodreard WP S
dero 8O

b,c,d,a (4) ad,cb

Which one of the following was the first Yakashaganam in Telugu

(1) Yayaticharitra (2)
(3) Tapati Samharanopakhyanam (4)
& 800 TS B0 I04I0EE AEMTSo
(1) oSoosrd $8 (2)
(3) 838 JoFSS IyrgSo (4)

28-A

Sugrivavijayam
Kridabhiramam

QoBS Dezodo
gadordoo
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139. Which one of the following recite the stories of the ancestors of Lambadas

(1) Bhats (2) Ranjus (3) Pardans (4) Bikshus

©02r8e HrePHne 2IE SBFL & (§od 0T IS o By

(1) &&Sen (2) Soaren (3) Sodoen (4) Hgsoe
140. The Yanadi Bhagavatam is also known as

(1) Garudachala Bhagvatam (2) Ankamma Bhagvatam

(3) Ellamma Bhagvatam (4) Pochamma Bhagvatam

FWrrd IS A) €8 Fom VLTS

(1) KSHhmse ridso (2) @08Sy erisgo

(3) gty wrisgo (4) 580y eSS0

141. The Akkanna-Madanna Temple in Hyderabad is located at
(1) Bahadurpura  (2) Shalibanda (3) Golkonda (4) Karavan

TErESt ) H)-Srdd) BTocho )6 wod?
(1) o5&8rsHor (2) TOp0é (3) AeHod (4) s8oS

142. Who among the following Jagirdar helped the British to suppress the 1857 mutiny in
Hyderabad state.
(1) RajaRameshwar Rao of Wanaparthy
(2) RajaVenkata Laxman Rao of Jataprole
(3) RajaRambupal Rao of Gadwal
(4) RajaVenkataraya Nayak Rao of Palwancha

& 0B TOS' Q JoFTEHR T S0tk 1857 Bherindy wawEos® B8R
B8 JTPA0I&I

(1) oo ooRd6 oo - $858 (2) o Jo8b ©FPoY) - 2@ e

(3) o o Fr>rd oo - Ko (4) orer Jo8Lorod P08 Tv) - Fegol
143. The Shivaram Wildlife Sanctuary is located in which of the following districts of Telangana

(1) Adilabad - Nizamabad (2) Mahabubnagar - Medak

(3) Karimnagar - Warangal (4) Adilabad - Karimnagar

Bo0omwrS'A & 808 ReNS® I B 35070 HSgreB HoFes So(So wob?

(1) esdorerd - Jerdrerd (2) SoBreardSKNs - BEE

(3) 8603K6 - S80KS (4) wdorers - 8603556
144. The Police Action against the Hyderabad State was also known as

(1) Goddard plan (2) Razakar plan

(3) Jai Hyderabad plan (4) Choudariplan

TEer orago R 2008 FOD WEgH & Do Erd Heordd?

(1) Feg &S (2) S=86 IS

(B) B Thoerd IS (4) FTS6 S
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145. Who among the following Lambada leader fought against the “Visnuru dora’ during Telangana
Armed struggle.
(1) Jatoth Tanu Naik (2) BhalluNaik
(3) Tejavat Dasunaik (4) BhukyaBalya
& 808 IS D ©0oerd TPaEIE B0 FPOINEG Ford 5700’ JHdrd §°8’E
Sg&OEor Foro BIT K.
(1) =&'S o Ta§ (2) wey Saf§
(3) BerdS THoTa§ (4) eosg erog
146. One of the following was not associated with designing of “Telangana Talli’ statue
(1) B.S.Ramulu (2) Bhoopathy Krishnamurthy
(3) Prof. Gangadhar (4) Pasunuri Dayakar
Boomrn S8 IET SPIEONNS” & 808 TOST IS g 5.
(1) 9.0%. oodoen (2) €558 RSy
(3) sy Homgs (4) $H0870 $5TEE
147. The Commission investigated the incidents related to 1952 Mulki Movement in Hyderabad
was headed by whom of the following
(1) VamanNaik (2) AkbarHyderi
(3) Jagan Mohan Reddy (4) Ramachari
TEeerd 1952 $008) edgio Sbde T $orgR) @0BY & 8od FP0ST N TrafEgo
S0
(1) o> o°oH§ (2) @86 o
(3) =i oG (4) odcad
148. Who among the following undertook the indefinite fast during 1969 Jai Telangana Movement?
(1) Kolisetti Ramdas (2) T.Purshotham Rao
(3) Potu Krishnamurthy (4) Annabathula Ravindranath
1969 B 8wormre wdgiso0s” & 00 TS IHE It b TS OF
@Sodow
(1) 838 ocoHhood (2) &. PSHAESL oo
(3) &ren ERsry (4) vmphe oG
149. Arrange the following in chronological order
(@ Eightpoint formula (b) Six point formula
(c) Five point formula (d) The Presidential order
& 808 T8 TUrHE0S” WMES0
(3) QWG drEre HE¥o () ©&H drere HEso
(C) wond dorere H&¥o (d) GRBIHS egs
(1) ac,b,d (2) ab,cd (3) d,b,ca (4) b,adc
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List - 11
1997
1998
1991
1986

e - |l
1997
1998
1991
1986

a-1v, b-iii, c-i, d-ii
a-iii, b-iv, c-ii, d-i

Million March
Sadak Bandh

OIS 578
H88 08

a,b,d,c (4) b,ad,c

Tanneru Sriranga Rao
P. Govardan Reddy

SN 3 Eoror
B, K585 3G

Addal2417
X1
150. Match the following :
List - |
(@ Telangana Information Trust (i)
(b) Telangana Students Forum (i)
(c) Telangana lkya Vedica D)
(d) TelanganaJanasabha (iv)
& 808 A 238808 TIH0
e - |
(2) Boomrs adNB RS L] (1)
(b) Beomrw dr@oly Fdo (i)
(C) Boormre 8 36 (iii)
(d) Boomres 2838 (iv)
The correct answer is
BORS BSTESHN
(1) a-i, b-ii, c-iii, d-iv (2)
(3) a-ii, b-i, c-iv, d-iii 4)
151. Arrange the following in chronological order
(@ Sakalajanaula samme (b)
(c) Sagaraharam (d)
& (808 "8 srerdoEoonr @o8y)H0
(@) DEoudo Sy (b)
(c) K8 H*80 (d)
(1) b,c,da (2) a,d,cb (3)
152. Who was the convener of Telangana State Advocate Joint Action Committee
(1) M. Rajender Reddy (2)
(3) GandraMohan Rao (4)
800 T°g TFONT RO 2000 GES S8 IS A6 wodod
(1) o%o. oBocs6 3G (2)
(3) Ko Irroed 4)
153. Which one of the following is not correctly matched.

P31

(1) Bellaiah Naik - Lambadi Hakkula Porata Samithi

(2) Dubbagatla Narsing Rao - Munnuru Kapu Hakkula Porata Samithi
(3) Belli Krishna - Golla, Kuruma Hakkula Porata Samithi

(4) \Valigi Prabhakar - Erukala Hakkula Porata Samithi

& 1808 TAS® DB HOWOND ST
(1)
(2)
3)
(4)

31-A

BYodg TAE - woerd FrEY O Fordd IS

Gty $8yoRTrY) - SIS 57y TrE o PFord DS
BOER - Ty, S T8 Fordd JWd

T8 D80 - DB T © e S8
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154. The Sakala Janula Samme was organised by which one of the following
(1) TelanganaJointAction Committee  (2) Telangana Vidyavantula Vedica

(3) Telangana Rashtra Samiti (4) Telangana lkya Vedika

& 808 78S DK JFoudo IHIE LYW

(1) Boorre 2ro00& ©8S 8§08 (2) Bworm dorgdode I8E
(3) Boomrs ooy B8 (4) Beomrm 0EgI6E

155. When was the A.P. State Reorganisation Bill introduced in Lok Sabha by Home Minister
Sushil Kumar Shinde

(1) February 3, 2014 (2) February 13,2014

(3) February 20,2014 (4) March1, 2014

BOPHTT YIEIGIREC Dl FPoB0® WISESFE 20T STEVLES® DIy HIF DG
(1) Se%s 3, 2014 (2) Se%s 13, 2014

(3) %8 20, 2014 (4) $8y1, 2014

156. Assertion (A) : During summer season Intertropical Convergenic Zone (ITCZ) is located
to the north of Equator.

Reason (R):  The northward shift of ITCZ over India leads to onset of monsoon.
The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrueand (R) is false

(4) (A)isfalseand (R) is true

WEFES (A): I 5°008° WodE oSOy WPHTe oo FriEgdps tddom
€ 0e00R.

s8w0 (R): ©088 ©0DHIP ©PILe Hokwo &S0 Y M rdEBFo Iy IYko
359 0HISTBEHBoM%E T88I00.

DOGE SETTEBI0

(1) (A) 506050 (R) Dok 9053 58050 (A) & (R) 6668 e
(2) (A) 506050 (R) Dok 06553 53 (A) & (R) 905 d58m 5
(3) (A) %6358 %8055 (R) 83

(4) (A) 85 50805 (R) 90058
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157. Match the following:
List - |
(@ Autotrophs
(b)

(©)

(d)
8o&

Hetrotrophs
Tropic structure

Food chain

TPEIQ 2WSDHG R0

838 - |

e LD e

Tt Eraen

(€) &b 385 (Erns Jdomyeo)
d) «58 Sodho (P& B)
The correct answer is

HOGY BIPFS0

@ ® © @
1) v i ii i
(2) iii iv [ ii
(3) i ii iii iv
(4) ii iii [ iv

@)
(b)

158. Match the following:
List - |

(@  Guru Shikhar Peak

(b) Dhuadhar waterfall

(c) Thalghatgap

(d) Coral reefs

8o&

R 2SI8Wok:
He38 - |

B8 3pd 3PorBo
Srmrd Bodrso
(€) &mrs g

d) Haod DAEen
DBRS ddorerdo

@ ® © O
1) v i ii i
(2) iii iv [ ii
(3) i ii iii iv
(4) ii iii [ iv

@)
(b)

P31
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()

(ii)
(iil)
(iv)

(i)

(i)
(iif)
(iv)

GET IT ON
Google Play

A

Booklet Code

List - 11

Transfer of energy from one level to
another

Hierarchical arrangement of organisms
Depends on other organisms for their
food

Prepare the food themselves

238 - 1l

2.8 B3S Q0 208 BISS™ 8§ Sr0)&
dho FBosndg EHoadssn

B850 B85 988 BHo D BT EHEE0
VI TR SASTrHRDE SE0

List - 11
Lakshadweep islands
Western ghats
Narmada river
Aravallis

$e38 - 1l
EBoren
5850 ESHeo
SE > I8
TepT-STSV)
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159. Match the following:

List - | List - 11
(@) Kalpakkam (i) Gujarat
(b) Narora (i) Karnataka
(c) Kaiga (iii) UP
(d) Kakrapara (iv) Tamil Nadu
808 T BSJGI0 -

D38 - | 238 - 1l
@) seygo (i) Kz=os
(b) K& (i) Somws
(c) s (i) &88 Has
(d) sEaro (V) Sdogardo

The correct answer is
HOGS BIPFS0

@ (® (© (@

@ v i i i
@) i v i i
(3) i i i iv
@ i i i iv

160. Assertion (A) : Tropical cyclones taking origin in South China sea is called as Typhoons.
Reason (R):  The isobars of tropical cyclone are circular in shape.
The correct answer is
(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrueand (R) is false
(4) (A)isfalseand (R) is true

@EFSS (A): ¢80 B S® 30T GPHDodL IETE O BIrdowotrd.
sdmo (R):  wldode SETee dndn Spod SRS E0S’ eotraw.
SO HEPTBED

(1) (A) 308050 (R)Bodsr H0@033 $08as0 (A) & (R) 58508 d58e

(2) (A) 308050 (R) Bodor 3883053 520 (A) & (R) 385308 D98 5760

(3) (A) 380856 $00052 (R) 53

(4) (A) 85y S0 (R) 508086
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161. Assertion (A) : Global warming is caused due to increasing presence of green house gases
and ozone layer depletion.

Reason (R):  Global warming is responsible for lowering of sea level.
The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrueand (R) is false

(4) (A)isfalseand (R) is true

BaFEs (A): (5 55 I smdoddo So $000 LIS FE §oho S BH
&g mgoe0 Dcﬁo)céaéoo&.

s8mo (R): D@ H0go HEPFHLE ©HHod saslndd s°derodo.

BEBS BETTBE0

(1) (A) S00050 (R) Bodr H0GBSS H500a50 (A) &0 (R) 508308 58

(2) (A) 08050 (R) Bodkr 3083083 520 (A) & (R) 385308 D580 57650
(3) (A) 2008 Hdasw (R) 85y

(4) (A) 3808 s (8y) 08050 (R) H8G0SE

162. Read the following statements:
a)  National Advisory Council was established by NDA Government
b) - The chair person of National Advisory Council was Sonia Gandhi
¢)  National Advisory Council advises Union and State Governments
d)  Prime Minister is the Chairman of National Advisory Council

Bo& Trgpgedy WS :

2) 8 JoHt L0dd) ISE) HeHEIHL DEEDKE

b) B> mod 8AH VOB Hodd wEgEioren

C) Bol¥ 0B Ty PEDEHNOE B EOH JoBt odd dedter QWS
d) =805 Jd0H* H0dd vl S So®

Choose the correct statements:

DORBN Tgwe0 A?

(1) a&d (2) bonly (3) abé&ec (4) b&d
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163. Electronic voting machines were used in general elections of state legislative assemblies
for the first time in 1998 in the following states:
a)  Madhya Pradesh, Rajasthan and Himachal Pradesh
b)  Rajasthan, Uttar Pradesh and Bihar
c) Madhya Pradeshand Kerala
d) Madhya Pradesh, Rajasthan and Delhi

1998 w08 e INFOS' JOFIE Lo cHo@Inedd J0EBIB 2 TS
G HRBTAODTE?
)  SEHOBE, TraFgS 58N TrIrSSHIT
b) oaIS, GIEORT S0 DS
C) H0EgHAT $o8050 $8¢
d)  SEgDRT, oaFS S8 &9
(1) d 2 ¢ (3 b (4) a
164. Assertion (A) : The Parliament can legislate matters in State List in national interest.
Reason (R):  Rajya Sabha is part of Parliament.
The correct answer is
(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both(A)and (R) are true and (R) is not the correct explanation of (A)

(3) (A)istrueand (R) is false
(4) (A)isfalseand (R) is true

TP (A): Tf OSSR ©oddne FPIR0E HEsn BohHwy
s°8w0 (R): oregdel FPYIOLS® e

BB DETTSD

(1) (A) 500050 (R) 2y 500050 (A) & (R) 0205308 5880

(2) (A) $50050 (R) 2y 520 (A) &0 (R) 00508 D588 5750

(3) (A) 3y $odas0 (R) 5y

(4) (A) 85y $0050 (R) 2.y

165. Read the following statements:
a)  ArunJaitley is the leader of the house in Rajya Sabha
b)  Narendra Modi is the leader of the house in Lok Sabha
c) Venkaiah Naidu is the leader of the house in Rajya Sabha
d) Rajnath Singh is the leader of the house in Lok Sabha

808 Trgpgodo KPS0

)  Oragdys® HRE deraratid whs B

b) &E3FS® HS derarohHsdy 8ol Iré

C) TragdPs® BXE deraraHtidd Bogahgrasndd

d) SEIFS® HRS derarcdudy TeTd DoR

Choose the correct statements:

DBGDI Frggodd BeoYID -

(1) a&d (2) b&ec (3) c&d (4) a&b
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166. Assertion (A) : Indiaisa Republic
Reason (R):  India has universal adult franchise system
The correct answer is
(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrueand (R) is false
(4) (A)isfalseand (R) is true

) (A): erdEBESn Keadol Tresghao

s°8w0 (R): TESRII0S® DS SBres Few T8y, B§BY )
5OES HIPGSS

(1) (A) 00080 (R) 258530350 508050 (A) & (R) 90808 58

(2) (A) S0030 (R) 50308 520 (A) & (R) 586308 258e0 57650

(3) (A) &3y Hodas0 (R) 85y

(4) (A) 85y 50050 (R) ey

167. Assertion (A) : Collective responsibility of cabinet signifies unity and coordination among
members of the council of ministers

Reason (R):  Itis the prerogative of the Prime Minister to select or drop a member of
the cabinet

The correct answer is

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrueand (R) is false

(4) (A)isfalseand (R) is true

0 (A): 500@ 2080S° 08gE $0050 DRBEH TSENG THBE 1Y erSgd
BrES0 Hrdos.

580 (R):  5OIE 3205 oD00EEH0 $08050 ST R0TWEN0 HESS00@ DusEeasd
BoBIS

DTS HETTEBI0

(1) (A) 50050 (R) 905059 50050 (A) % (R) 6658 D560
(2) (A) 500050 (R) 90535 523 (A) & (R) 9008 958w 5
(3) (A) ey S08a5 (R) o3

(4) (A) 85 508055 (R) ey
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168. Read the following statements:
a)  Shanmuganathan is appointed as Governor of Meghalaya
b)  Draupadi Murmu is appointed as Governor of Jharkhand
c) Tathagata Roy is appointed as Governor of Arunachal Pradesh
d) Najma Heptullah is appointed as Governor of Mizoram

8o& Trgpgodo KPS0

Q) LTS BoredH XSG Jc00H2TBE

b) @08 S8y &rgos KI8ET AoHA0HTS

C) SRS WSS PAT KIS QooD0DB0

d)  Seporer DEToa0 K66 JoHM0HBK

Choose the correct statements :

DBGDI Frgpgod0 BLOYID :

(1) a&ec (2) a&b (3) b&d (4) a&d
169. The two major components of ‘inclusive growth' in India include

A) Providing economic benefits to hitherto neglected marginalised sections

B) Exporting manufacturing goods

C) Poverty reduction and employment generation

D) Environmental degradation
(1) A&Conly (2) B&Donly (3) A&Bonly (4) B&Conly

00RE KRS Bok B wodoyTen 2D?

A)  HSoS" DHBowGS Sore 08 $fE HaJTren wodEE0
B) Sorgioarg)ooh ($05>8) SyPess s Bosdo

C) "DE08 sl Shod), & oy

D) Sorghden DTHES

(1) Ao805» C Sm@o (2) B 50005 D Sr&o
(3) AS8c50 B S (4) B %8050 C Soo@ad

170. Which one of the following statements is correct with regard to population explosion?
(1) Bothbirth and death rates are high.
(2) Bothbirth and death rates are low.
(3) Birth rate will be high and death rate decreases very fast.
(4) Birth rate will be low and death rate increases moderately.

2T DFYLSK H00050d Bod TBST BBS Frgwy A6?

(1) =S, B L0805 Lodeare Béw Voo WHEOM €0 omw.

(2) =850 T 00080 Hoderee T Bodor S8 Sm oL ow.

(3) =dcre Tlo whEM &0, Sl Bin Ioom $KHEd.

(4) =350 Tt SEYST &0, DT T Irerdds” wdHEd0s.
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171. Nobel Prize in Economics was awarded to one of the following :

(1) SirC.V.Raman (2) AmarthyaSen
(3) Ch.Hanumantha Rao (4) C.Rangarajan
o8 08" ¥dTHod” WS ITVIEI FoBNE IHE?

(1) 38 2.9. oo (2) eS8y »S
(3) s Trdodood oo (4) . Sofores

172. Which of the following statements about poverty are correct?

A) Poverty isa socio-economic phenomenon in which a section of the society is unable
to fulfill even its basic necessities of life.

B) The poverty gap measures the transfer that would bring the income of every poor
person exactly upto the poverty line.

C) Aperson whose income or expenditure is so meagre that he lives below the subsistence
level is called as ‘relative poverty’.

(1) AandBonly (2) BandConly

(3) CandAonly (4) ABandC

G058 How0ofod Bod TBS® ) Fgwgen HOID?

A asresds Syihohid HEsses® S E0% e ST 85FBR JacsT
D305 (PRed G 0otrd.

B) ©8 & $38 erraird) ord|Edy O dordoll e a8 HErdodg $85 06O W
BEg DE0E HgergHo BenNHE0d.

C) 833 T8 258 Sgoirq) Bow B@war) e FodBA Bee JBI ‘I 0f Sgao’m

BRI
(1) AL08c5» B S (2) B %08050 C S
(3) C R08a50 ASm g (4) A B%dasnC
173. Which among the following are the two major economic indicators of regional imbalances?
A) Inclusive growth B) Poverty level
C) Per capita income of states D) Social justice

(1) AandBonly (2) BandConly (3) CandDonly (4) DandAonly
Bod TBS” Bk BdFEOgEK H0woHod Bowk PES BfE Jdrdes AD?

A) B8 93 B) a88 gpow

C) oo $0dd srraireo D) &&res srgoso
(1) AL08050 B S (2) B 208050 C S
(3) C 08050 D Sov@go (4) D 508030 ASreo
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Biosphere
Lithosphere

A, BandConly
A,B,CandD

BrIE@0
eS80
A, B 5080350 C o0&

X1
174. Which of the following are the spheres of environment?

A)  Atmosphere B)
C) Hydrosphere D)
(1) AandBonly (2)
(3) A/ BandDonly (4)
Bod FES® DTSSR WIwwd ID?

A) eSS0 (Atmosphere) B)
C) @orddwo D)
(1) AL08050 B e (2)
(3) A, B850 D Sxe53o 4)

175.

176.

P31

A, B, C %8050 D

Which of the following decades was declared by the UNO as a ‘Decade of Education for

Sustainable Development’?

Bod TES* J ST wEgTrag BN WHE LPS)B T8 oy $Tgo ™ BEBoDH?

(1) 2000-10
(3) 2010-20

Match the following:
Organisation

Border Security Force
Indo-Tibetan Border Police
(c) Sashastra Seema Bal

(d) Coast Guard

23S DS 0D0:

@)
(b)

Kv‘oéﬁ

DB PSS $¥o

R0&"-BBES B0ECR S8 S¥K0
(C) SR v w00

d) BS>od 888 S¢S0

The correct answer is

BORE BSTEBHN

(1) a-ii, b-iv, c-i, d-iii

(3) a-iv, b-ii, c-i, d-iii

@)
(b)

40-A

(2)
(4)

(i)

(i)
(iii)
(iv)

(i)

(i)
(iii)
(iv)

(2)
(4)

2005-15
2015-25

Year of establishment
1963
1965
1978
1962

@;K)é RDONSYBD0
1963
1965
1978
1962

a-ii, b-iv, c-iii, d-i
a-iii, b-i, c-ii, d-iv


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A
Addal2417)

X1 Booklet Code | A

177. Choose the incorrect statement/s from the following:
a)  The National Physical Laboratory is situated in Lucknow.
b) Indian Research Station ‘Himadri’ is located in Arctic region.
c) Central Food Technological Research Institute is located in Mysore.
d) Central Rice Research Institute is located in Bhubaneswar.

Bod TgPIOS’ HOGTID TIB/D A?

3 JASS veES rafLd ©8)S' Sod.

b) g8 H0FET Sosn TEFB 88 iE dRoHISS® Sud.

C) oS D& TS 836 adRorgds Fdrss® Soch.

d) 3% 636) asRirgs SIS So.

(1) a&c (2) b&c (3) a&d (4) bé&d

178. Read the following statements:
A) Commonwealth Games, 2014 were held in Kaulalampur
B) Kabaddi World cup, 2016 will be held in Ahmedabad
C) National Games, 2015 were held in Kerala

Bod Trgpgod SES0é:

A 2014, 550338 Bden Toreorss® JEgaroHaEon

B) 2016, $2§ ©%0w §0380 o mrerd edEgdd08

C) 2015, erdo §den SEES® AEaroHEon

Choose the correct statements:

938 rgpgod Bodok:

(1) A&B (2) B&C (3) C&A (4) AB&C

179. Highest bridge in India is
(1) Sevoke bridge (2) Naini bridge
(3) Chambal bridge (4) Ellis bridge
T ESTEHNS® IBL 3083 A&?
(1) 55 5085 (2) 32 $08% (3) Sowd 5085 (4) 295 $50BS

180. Mahatma Gandhi Peace Prize for the year 2014 was given to

(1) ISRO (2) Chandi Prasad Bhatt

(3) Desmond Tutu (4) Missionaries of Charity
30H3E) mod To8 2HVS, 2014 ol

(1) ISRO (2) w$ob PHFE& &S

(3) @& K& (4) U8R 9 0
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181. Match the following:
List - I (Day) List - Il (Date)

a) Earth Day (i) 22" April

b) International Tigers Day (ii) 8" June

c)  World Oceans Day (iii) 29 July

d)  National Sports Day (iv) 29" August

8o& LA 2EDSWodk

HGE - | (8TE)So) 588 - 11 (38)

a) $0@ AP0 (i) @S 22

b) wodTda%H Hevo BT H)So (i) e~ 8

C) Kdow Il dSTES0 (iii) =8 29

d) =8ch & B85S0 (iv) e 29

The correct answer is

BOROE BSTEBHN

(1) a-(iii), b-(i), c-(iv), d-(ii) (2)  a-(iv), b-(ii), c-(i), d-(iii)

(3) a(ii), b-(iv), c-(iii), d-(i) (4) a-(i), b-(iii), c-(ii), d-(iv)

182. Read the following statements:
A) The first state in the country to draft its own internal security legislation is Maharashtra.
B) The city to host Bharatiya Pravas Divas in 2017 will be Hyderabad
C) Thefirstisland district that emerged recently in India is Majuli

Bod Trgpgod KSES0é:

A)  ©o8ES Hde SErQ) SROWEN) B org S Sodtory

B) 2017¢5° erd&o% ©ard 639% e88go a8 Trdorerd Sido

C) &rdgtdos’ adbe wIS00DS &O b B Hoerd

Choose the correct statements:

38 rgpgod Beodod:

(1) A&B (2) B&C (3) C&A (4) AB&C

183. Sex ratio means (from among the following)
(1) Number of males per 1,000 females (2) Number of males per 100 females
(3) Number of females per 1,000 males (4) Number of females per 100 males

8o T8 doif B AB?

1) 1,000 5508 Do &) HShe dop
& %) S

2) 100 5008 Do &l Hhe bdop

& %) S
3) 1,000 5008 HEHDOLH &) o Do
AN )

4) 100 2008 HHN0EH &) ne HDop

AN )
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184. Choose the correct match

Army Navy Airforce
(1) Captain Sub-Lientenant  Flight Lientenant
(2) Major Commander Squadron header
(3) Colonel Commodore Air commodore
(4) Major-general Rear Admiral Air vice Marshal
HOGS BEK BrDOHS0

8y ) Q00E6)
(1) 3RS J5BHJ0¢S PoNE BP0
(2) Sous E508 FYES B
3) S E5r0cE Do E5r08s
(4) Deb-=u38S 86 w& IS Qo I $rES

185. Assertion (A) :  Urban center with more than one million population in India is called as
metropolitan city

Reason (R):  Accordingto 2011 census there are only 12 metropolitan cities in India
The correct answer is

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrue but (R) if false

(4) (A)isfalse but (R) is true

REFSS (A): r8S8BF0S® 2 WOSHS IS’ :63:6‘31 5555"&?)1 DT FOLS D& ©
eOIK.

580 (R): 2011 sorer B o WsEo rdEBFos” Shwo 12 Srgh EFTTrOLS
B (SKoren) o).

HBSDE DITF B0

(1) (A) 506050 (R)Bodr 585353 56050 (A) & (R) $65308 D560
(2) (A) 506050 (R)Bodkr 3663053 520 (A) & (R) $808 50 5°¢0
(3) (A) %8586 (£3%) 53 (R) 8%y

(4) (A) 853 =0 (R) 8383 (305056)
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186. Read the following statements:
A) The DWCRA aimed at providing self-employment to women of BPL families.
B) The NREP was launched in 1980.
C) The NSS organisation gave three concepts of employment to measure its status-usual
status, current weekly status and current daily status
D) The PMRY aimed at providing wage employment in rural areas
Which of the statements given above are correct?
(1) A ,BandConly (2) B,CandDonly
(3) A CandDonly (4) A BandDonly

808 DIOR WEH0& :

A) BBy T BHSS Ko HIrFos dioho Gred 9y uEd8 @ DEso
&30 808.

B) 80k (rabe trd HE5°Q) 19805 H05E)80S° @HIF LD

C) w&gher ?63@‘0 B oWE A8 I Yed ?g@, TEJES %))@ L0808 &erard ?‘g@ &
Sorchy arsSO ¥0P TEE

D) (e @osros® 385 &30 8O0 STA8 DT SH08 FTEMTE Sorad &growtwdod

P ASEBNOS" D H0WoNSD?

(1) A B850 C Soo@go (2) B, C %8050 D S50
(3) A, C08050 D Se530 (4) A B850 D S50
187. The present Indian permanent representative to UNQO is
(1) Nirupama Sen (2) SyedAkbaruddin
(3) AK. Mukerji (4) H.S.Puri
pEgorag VNBS® el TS WA (OdXSSw)
(1) SIS (2) BoSgh ©HHES
(3) 3. Sopd (4) 88, I8
188. Which of the following are the three major forms of pollution?
A) Air pollution B) Water pollution
C) Noise pollution D) Land pollution
The correct answer is
(1) A,B&Conly (2) B,C&Donly
(3) C,D&Aonly (4) D,A&Bonly
Bod TBS® Kord TS SPeody Esten (Sraren) d?
A) TS0 sPenRdgo B) & srendgo
C) & srendgo D) &8® sendgo
BOROE BSTESHN
(1) A B&C3re (2) B,C&DS»g
(3) C,D&AS»ER0 (4) D,A&B 3@
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189. The National SC/ST Hub will be launched in the city

(1) Jaipur (2) Agra (3) Nagpur (4) Ludhiana

B drgd Soeore/Bie TEH |PE0HoB SKESw

(1) B8>6 (2) e (3) oAYrs (4) orddsro
190. The world’s largest solar power plant is installed in the state

(1) Rajasthan (2) Tamilnadu (3) AndhraPradesh (4) Haryana

DDoBINS® w08 DEBS TG GE)B oo 0PRSS TmHdw

(1) ocaxps (2) S2gI % (3) sogRas (4) &ogs
191. Smallest parliamentary constituency in terms of number of electors is

(1) Ladak (2) Damanand Diu

(3) Lakshadweep (4) Andaman and Nicobar island

8,08 dopg Sorg 08 DY) &80 ARBTeE S0

(1) o«§ (2) @ & &odw

(3) o8& (4) ©0dSrS & J8%erS Hgddo
192. Match the following:

Day (Significance) Month

a)  World Kidney Day i) Feb,4

b)  World Cancer Day i) March, 24

c)  World Tuberculosis Day iii) March, 10

d) World Disabled Day iv) December, 3

T EBRES0S® I8 PosHE D0ezd WEHHOK SN0 D0BS)Td00

& | S0y Seo

a) @0l 8&) e 1) S0 14

b) ©Ho% 526 Ser i)  $6) 24

C) Hos oS &% iii)  $>§ 10

d) b0 dEorohe & V) &o063

The correct answer is

BORS BSTESHN

(1) a-ii, b-iv, c-iii, d-i (2) a-iv, b-ii, c-i, d-iii

(3) a-iii, b-ii, c-iv, d-i (4) a-iii, b-i, c-ii, d-iv
193. The first sponge iron plant was established in

(1) Telangana (2) Andhra (3) Rayalaseema (4) Bundelkhand

F0EE INoE S FolS JuEFONS KB

(1) Beworre (2) eso (3) orooedle (4) =00BSpo&
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194. Choose the incorrect pair from the following:
Stadium Location Stadium Location
(1) Keenan stadium Jamshedpur (2) Shivaji stadium Pune
(3) Ranjistadium Kolkata (4) D.Y.Patil stadium Navi Mumbai
8ol 8S* H/RS 18 578 -
AR DB FS0 A0 DB FS0
(1) 838 R&SHI BowEYE (2) 3oz QYA Sre3
(3) Sod R&H Soier (4) &3.>8S PYADHD K Svowown
195. Match the following:
Day Date
a)  National Science Day i)  October, 8
b)  AirForce Day i) February, 28
c) NavyDay i) May, 21
d)  Anti Terrorism day Iv) December, 4
808 T8I BEHSTS0
& CREEWN
Q)  dod TR B3I 1) o826, 8
b) orosnd HXS0 i) e, 28
C) ITs¥ BI80 i) o, 21
d) sord S3838 B350 V)  &owb, 4
The correct answer is
HORS BSTEHHEN
(1) a-iii, b-i, c-iv, d-ii (2) a-i, b-iii, c-iv, d-ii
(3) a-ii, b-i, c-iv, d-iii (4) a-iv, b-ii, c-iii, d-i
196. Consider the following statements

P31

a)  Supreme Court Constituted Social Justice Bench in the year 2015.

b)  The Social Justice Bench of Supreme Court was set up by the Chief Justice of India,
H.L. Dattu.

c) The Social Justice Bench sits every Friday to hear the cases.

8o argmgodo HBReBoYS%0:
a) 2015 &° oo 5 rdres Tgob BowK AGESE.
b) Do 88 Fires 5o Bol rdd HES TP5oHrg RIS, &y JEBAT .
C) 8 HETEI0 FIreE Tgod Bod drgaginesy H0FD0LD.
Choose the correct statement/s :
DBRS argpg(en) !
(1) a&hb (2) c&a (3) b&c (4) a
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197. The Chairman of Commission on De-Notified and Nomadic Tribes is

(1) Shravan Singh Rathore (2) BhikuRam

(3) KariaMunda (4) Babulal Marandi

AIEPE $000s0 Jowrd rdro EDAS FOS:

(1) @35 2of oog'& (2) D% oco

(3) 8Ba%H Lwwodd (4) erenerS So80&
198. Bharat Nepal Maitri bus service runs between

(1) Delhito Kathmandu (2) Varanasito Kathmandu

(3) Allahabad to Kathmandu (4) Gayato Kathmandu

ES IS B 2D D80 W SKforen

(1) &Q S0Bos» grevyodkd (2) &ed S0BASw ey cdd

(3) woiferd Hodas0 grivod (4) Koo H0Bas0 resyocsd

199. Consider the following statements:
a)  Operation Rahat, 2015 was commanded by Gen V.K. Singh.
b)  Operation Rahat is a rescue mission to evacuate Indian civilians from Syria.
c)  INS Sumitrawas deployed in Operation Rahat

8o argmgodo HBReoYS%0:

Q) ©dBAS oo, 2015 K I o308 S50 ST0NID 2BIES D.3. JoA.
b) 20808r S0d a8 Tl §oBododd Ddbdaé& SIVAS TS,
C) B82S THSS ISID NG BIRBFACDTE.

Choose the correct statements:

DBGDS Trgpged:

(1) a&ec (2) a&b (3) b&c (4) ab&c
200. Match the following:
Minister Union Government
(@ H.M. Patel (i)  Finance Minister, N F Government
(b) Indrajit Gupta (i)  Defence Minister, NDA-I
(c) Madhu Dandavate (i)  Finance Minister, Janata Government
(d) George Fernandes (iv)  Home Minister, UF Government
808 LA BSDIWd00:
L0018 Bo(& (eheesn
(@) 5.8 KBS (i)  ©88 7» $0@, 8o Hol HeoeSgS0
(b) 2oB=s Y (i) S8 T 008, deda-l DHebeesn
(C) $o¢0 Somdd (iii) ©g8 7» 08, ade HabEgHn
(d) =g DoyorE (iv) &0 2p 08, B0IBE ol Hebeesn

The correct answer is

BOROS BSTESBHN

(1) a-ii, b-iv, c-i, d-iii (2) a-iv, b-iii, c-i, d-ii
(3) a-iv, b-ii, c-i, d-iii (4) a-iii, b-iv, c-i, d-ii
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